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Carefully read the instructions given on Question Paper, OMR Sheet 
and Answer Sheet. 

Ĥæन-पिुèतका कȧ भाषा अĒेंजी है। परȣ¢ाथȸ केवल अĒेंजी भाषा मɅ हȣ उƣर 
दे सकता है। 

Question Paper is in English language. Candidate can answer in 
English language only. 

इस मॉɬयलू/पेपर के दो भाग है। भाग एक मɅ चार Ĥæन और भाग दो मɅ 
पाँच Ĥæन है। 

There are TWO PARTS in this Module/Paper. PART ONE contains 
FOUR questions and PART TWO contains FIVE questions. 

भाग एक “वकैिãपक” Ĥकार का है िजसके कुल अकं 40 है तथा भाग दो, 
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PART ONE is Objective type and carries 40 Marks. PART TWO is 
subjective type and carries 60 Marks. 

भाग एक के उƣर, इस Ĥæन-पğ के साथ दȣ गई ओएमआर उƣर-पिुèतका 
पर, उसमɅ Ǒदये गए अनदेुशɉ के अनसुार हȣ Ǒदये जाने है। भाग दो कȧ 
उƣर-पिुèतका मɅ भाग एक के उƣर नहȣं Ǒदये जाने चाǑहए। 

PART ONE is to be answered in the OMR ANSWER SHEET only, 
supplied with the question paper, as per the instructions contained 
therein. PART ONE is NOT to be answered in the answer book for 
PART TWO. 

भाग एक के ͧलए अͬधकतम समय सीमा एक घÖटा Ǔनधा[ǐरत कȧ गई है। 
भाग दो कȧ उƣर-पिुèतका, भाग एक कȧ उƣर-पिुèतका जमा कराने के 
पæचात दȣ जाएगी। तथाͪप, Ǔनधा[ǐरत एक घटें से पहले भाग एक परूा करने 
वाले परȣ¢ाथȸ भाग एक कȧ उƣर-पिुèतका Ǔनरȣ¢क को सɋपने के तुरंत बाद, 
भाग दो कȧ उƣर-पिुèतका ले सकते हɇ। 

Maximum time allotted for PART ONE is ONE HOUR. Answer book 
for PART TWO will be supplied at the table when the answer sheet 
for PART ONE is returned. However, candidates who complete 
PART ONE earlier than one hour, can collect the answer book for 
PART TWO immediately after handing over the answer sheet for 
PART ONE. 

परȣ¢ाथȸ, उपिèथǓत-पǒğका पर हèता¢र ͩकए ǒबना एव ं अपनी  
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ऐसा नहȣ करने पर, परȣ¢ाथȸ को इस मॉɬयलू/पेपर मɅ अयोÊय घोͪषत कर 
Ǒदया जाएगा। 

Candidate cannot leave the examination hall/room without 
signing on the attendance sheet and handing over his Answer 
sheet to the invigilator. Failing in doing so, will amount to 
disqualification of Candidate in this Module/Paper. 

Ĥæन-पिुèतका को खोलने के Ǔनदȶश ͧमलने के पæचात एव ंउƣर देने से पहले 
उàमीदवार यह जाँच कर यह सǓुनिæचत कर ले ͩक Ĥæन-पिुèतका Ĥ×येक 
Ǻिçट से सपंणू[ है। 

After receiving the instruction to open the booklet and before 
answering the questions, the candidate should ensure that the 
Question booklet is complete in all respect. 

______________________________________________________________ 
जब तक आपसे कहा न जाए तब तक Ĥæन-पुिèतका न खोलɅ। 
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PART ONE 
(Answer all the questions) 

 
1. Each question below gives a multiple choice of 

answers.  Choose the most appropriate one 
and enter in the “OMR” answer sheet supplied 
with the question paper, following instructions 
therein.     (1x10) 

 
1.1 Coaxial cable is an example of 
A) Guided media 
B) Unguided media 
C) Wireless Media 
D) Satellite Communication 
  
1.2 Which one of the following is not a Media Access 

Control Protocol? 
A) FDMA B) NFS 
C) CSMA D) DSSS 
 
1.3 Full form of CCITT is  
A) Common Committee for International Telephony 

and Telegraphy 
B) Consultative Committee for International Transport 

and Transfer 
C) Common Committee for International Data 

Transport and Transfer 
D) Consultative Committee for International 

Telephony and Telegraphy 
  
1.4 Which is true with respect to Gigabit Ethernet? 
A) Offers 1000 Mbps of Bandwidth 
B) IEEE 802.3z Standard 
C) Uses CSMA/CD protocol 
D) All of the above 
  
1.5 SDH (Synchronous Digital Hierarchy) is a standard 

technology for synchronous data transmission on  
A) Optical media B) Copper media 
C) Aluminum media D) None of the above 
  
1.6 Number of layers in the Open Systems 

Interconnect (OSI) model are 
A) 4 B) 5 
C) 7 D) 8 
  
1.7 QPSK (Quadrature Phase Shift Keying) is 

classified as 
A) Digital modulation B) Analog modulation 
C) Both of the above D) None of the above 
  
1.8 Cell Switching is used in 
A) Ethernet B) ATM 
C) Telephone Network D) None of the above 
 
1.9 The device Router works at 
A) Application Layer B) Transport Layer 
C) Network Layer D) Data Link Layer 
 
 
 

  
1.10 HTML     
A) Is a markup language 
B) Is used to write word documents 
C) Is Object Oriented Language 
D) Is used to form connections between a client and a 

server 
 
2. Each statement below is either TRUE or FALSE.  

Choose the most appropriate one and enter 
your choice in the “OMR” answer sheet 
supplied with the question paper, following 
instructions therein.               (1x10) 

 
2.1 If a channel can transmit frequencies between 3 

MHz and 4 MHz then its Bandwidth is 4 MHz.  
2.2 MANETS use wireless connections to connect to 

various networks. 
2.3 A firewall is a system designed to prevent 

unauthorized access to or from a private network. 
2.4 Dynamic Host Configuration Protocol (DHCP) is a 

network protocol that enables a server to 
automatically assign an Hardware (MAC) address 
to a computer from a defined range of numbers 
configured for a given network. 

2.5 Slotted ALOHA requires that time which is 
segmented into slots of a fixed length should be 
less than the packet transmission time. 

2.6 Hypertext Transfer Protocol (HTTP) is an 
application-layer Internet standard protocol used by 
local e-mail clients to retrieve e-mail from a remote 
server over a TCP/IP connection. 

2.7 IPSec works at the network layer and provides 
data security in various ways such as encrypting 
and authenticating data. 

2.8 Internet Protocol version 6 (IPv6) provides larger 
addressing space (as compared to IPv4) by using 
256-bit addresses. 

2.9 In ASK (Amplitude Shift keying), logic levels are 
represented by different frequencies of signals. 

2.10 HDLC operates at Data Link Layer. 
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3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in 

column Y.  Enter your selection in the “OMR” answer sheet supplied with the question paper, 
following instructions therein.                           (1x10) 

 
   X Y 
3.1 Is Used to Control the Broadcast Domain.  A. FSK 
3.2 Uses window based flow control mechanism  B. GSM 
3.3  A protocol for sending e-mail messages between servers  C. PGP 
3.4 Radio Communication  D. VSAT 
3.5  Connectionless protocol  E. VLAN 
3.6  Public Key Cryptography  F. TCP 
3.7  A network device used to regenerate or replicate a signal.  G. Wireless Communication 
3.8  Anywhere connectivity is made possible even at those locations, 

which cannot be connected through conventional media like copper 
cable, optical fibre, radio, microwave and any other wire-line / 
wireless links.  

H. SMTP 

3.9 It operates at either the 900 MHz or 1800 MHz frequency band.  I. Repeater 
3.10 A frequency modulation scheme in which digital information is 

transmitted through discrete frequency changes of a carrier wave.  
J. PPP protocol  

  K. Bridge 
  L. Mobile Telephony 
  M. UDP 

 
4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.  

Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with 
the question paper, following instructions therein.                   (1x10) 

 
A. TDM B. VPN C. FHSS 
D. FTP E. Cryptography F. Microwave 
G. Congestion H. FDM I. SNMP 
J. Routing protocol K. Mobile IP L. DNS 
M. Star     

 

4.1 ________ provides a user the full channel capacity but divides the channel usage into time slots. 

4.2 By using ________ one can retrieve information about network devices like routers, printers, hubs or even 
computers. 

4.3 ________ is an open standard that allows users to keep the same IP address, stay connected, and 
maintain ongoing applications while roaming between IP networks. 

4.4 A ________ is a private network that uses a public network (usually the Internet) to connect remote sites or 
users together. 

4.5 ________ in a network may occur when the load on the network (i.e. the number of packets sent to the 
network) is greater than the capacity of the network. 

4.6 ________ is a method of storing and transmitting data in a particular form so that only those for whom it is 
intended can read and process it. 

4.7 ________ the protocol for exchanging files over the Internet. 

4.8 The ________ topology reduces the chance of network failure by connecting all of the systems to a central 
node. 

4.9 ________ transmission refers to the technology of transmitting information by the use of electromagnetic 
waves whose radio spectrum ranges across frequencies of roughly 1.0 GHz to 30 GHz. 

4.10 The purpose of a ________ is to dynamically communicate information about all network paths used to 
reach a destination and to select the best path to reach a destination network, from these paths. 
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PART TWO 

(Answer any FOUR questions)
 
5. 
a) What is Pulse Code Modulation? 

obtain a pulse coded modulated wave from an 
analog waveform? Describe all the steps 
(sampling, quantizing, encoding). 

b) What is CSMA/CD stand for?  Describe CSMA/CD. 
Does CSMA/CD provide for dedicated or shared 
bandwidth?   

c) What is Data Encapsulation? What are the 
differences between OSI and TCP/IP model?

d) i) Which layer is responsible for converting data 
packets from the Data Link layer into electrical 
signals? 
ii) At which layer is routing implemented, enabling 
connections and path selection between two end 
systems. ? 
iii) Which layer combines bits into bytes and bytes 
into frames, uses MAC  
iv) Which layer segments and resembles data into 
a data stream? 

 
6. 
a) What is the difference between: 

i) GSM mobile telephony standard and 
mobile telephony standard 

ii) HTTP and HTTPS 
iii) Circuit Switching and Packet Switching

b) What is Open Shortest Path First Routing 
Protocol? What are its advantages and 
disadvantages? 

c) What is DSL (Digital Subscriber Loop)? What are 
the advantages and disadvantages of DSL?

 
7. 
a) What is NAT (Network Address Translation)? Why 

is it used? 
b) What do you understand by X.25? In what kind of 

networks does X.25 generally operate? Name the 
three general categories into which X.25 devices 
fall. 

c) What is wireless networking? What is the 
relationship between wireless networking and IEEE 
802.11. If a computer is connected to a wireless 
LAN, can it communicate with computers on a 
wired LAN as well? 

 
8. 
a) What is HTML? What is the difference 

HTML elements and tags? Do all HTML tags come 
in pair? What are some of the common lists that 
can be used when designing a page?

 

  

questions) 

What is Pulse Code Modulation? How do you 
obtain a pulse coded modulated wave from an 
analog waveform? Describe all the steps 

 
What is CSMA/CD stand for?  Describe CSMA/CD. 
Does CSMA/CD provide for dedicated or shared 

psulation? What are the 
differences between OSI and TCP/IP model? 
i) Which layer is responsible for converting data 
packets from the Data Link layer into electrical 

ii) At which layer is routing implemented, enabling 
ion between two end 

iii) Which layer combines bits into bytes and bytes 

iv) Which layer segments and resembles data into 

(5+4+4+2) 

GSM mobile telephony standard and CDMA 

Circuit Switching and Packet Switching 
What is Open Shortest Path First Routing 

s advantages and 

What is DSL (Digital Subscriber Loop)? What are 
and disadvantages of DSL? 

(9+3+3) 

What is NAT (Network Address Translation)? Why 

What do you understand by X.25? In what kind of 
networks does X.25 generally operate? Name the 
three general categories into which X.25 devices 

What is wireless networking? What is the 
relationship between wireless networking and IEEE 
802.11. If a computer is connected to a wireless 
LAN, can it communicate with computers on a 

(5+5+5) 

What is HTML? What is the difference between 
HTML elements and tags? Do all HTML tags come 
in pair? What are some of the common lists that 
can be used when designing a page? 

 
b) What is TCP (Transmission Control Protocol) and 

UDP (User Datagram Protocol)? Explain their 
differences?  Why UDP is faster than TCP?

c) i) In the IPv4 addressing format, the number of 
networks allowed under Class C addresses is 
(Explain your answer) 

 A) 2 14  
 B) 2 7  
 C) 2 21  
 D) 2 24 
 
 

  
 

ii) All the routers use the distance vector based 
routing algorithm to update their routing tables. 
Each router starts with its routing table initialized to 
contain an entry for each neighbour with the weight 
of the respective connecting link. After all th
routing tables stabilize, how many links in the 
network will never be used for carrying any data? 
(Explain your answer) 

 A) 4 
 B) 3 
 C) 2 
 D) 1 
 
iii) One of the header fields in an IP datagram is the 

Time to Live (TTL) field. Which of the following 
statements best explains the need for this field?

 A) It can be used to priortize packets
 B) It can be used to reduce delays
 C) It can be used to optimize throughput
 D) It can be used to prevent packet looping

 
9. Write Short notes on (any three
a) SONET/SDH 
b) Guided Transmission Media (Twisted Pair

Co-axial cable and Optical Fiber)
c) Simple Mail Transfer Protocol, SMTP
d) Asynchronous transmission and Synchronous 

transmission 
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What is TCP (Transmission Control Protocol) and 
UDP (User Datagram Protocol)? Explain their 

is faster than TCP? 
i) In the IPv4 addressing format, the number of 
networks allowed under Class C addresses is 

 

ii) All the routers use the distance vector based 
routing algorithm to update their routing tables. 
Each router starts with its routing table initialized to 
contain an entry for each neighbour with the weight 
of the respective connecting link. After all the 
routing tables stabilize, how many links in the 
network will never be used for carrying any data? 

One of the header fields in an IP datagram is the 
Time to Live (TTL) field. Which of the following 
statements best explains the need for this field? 

It can be used to priortize packets 
It can be used to reduce delays 
It can be used to optimize throughput 
It can be used to prevent packet looping 

(4+5+6) 

any three): 

Guided Transmission Media (Twisted Pair, 
axial cable and Optical Fiber) 

le Mail Transfer Protocol, SMTP 
Asynchronous transmission and Synchronous 

(3x5) 
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